

#### Seattle • Olympia www.alliedlawgroup.com

#### Michele Earl-Hubbard

(206) 443-0200

October 5, 2011

Via U.S. Mail & Facsimile: 206-223-7107 Via Email: gabela@lanepowell.com; mcbrider@lanepowell.com; deggingerg@lanepowell.com

Andrew Gabel Ryan McBride Grant Degginger Lane Powell PC 1420 Fifth Avenue, Suite 4100 Seattle, WA 98101

Re: DeCoursey Cost Charges

Dear Andrew, Ryan and Grant:

I am trying to determine the amount of costs the DeCourseys should be awarded on remand pursuant to the Division One Court of Appeals ruling and need some assistance from your firm in determining which costs charged to the DeCourseys by your firm fall into the RCW 4.84.010 categories. Those categories are quoted at the end of this letter.

From bills Lane Powell sent the DeCourseys it appears the DeCourseys were charged by your firm \$18,314.75 in costs through the trial court phase as follows:

Photocopies	\$10,042.80
Jury fee	\$125.00
Filing fee	\$213.00
Mediation	\$525.00
Bank records	\$674.47
Prof. Services (Atty Info Bureau)	\$11.09
Prof. Services (Andersen, Bjornstad, Kane, Jacobs)	\$350.00
CLR (legal research)	\$1099.78
Docketing	\$307.23
Facsimile	\$488.70
Courier	\$2,360.08
Long Distance phone calls	\$34.71
Travel	\$371.73
Court reporter	\$454.75



DVD	\$100.00
Witness fees	\$83.93
Court records	\$52.49
Record fee	\$816.99
Court clerk	\$80.00
Ex parte fee	\$90.00
Writ Garnishment	\$40.00
NSF	-\$7.00

Attached to this letter are the pages from the Lane Powell bills with cost charges for the trial court phase.

Please advise which of these costs are recoverable under RCW 484.010 and the category into which each falls. (Your bills do not provide any detail allowing me or the DeCourseys to break the costs down into the categories under RCW 4.84.010.)

Here are the RCW 4.84.010 categories:

- (1) Filing fees;
- (2) Fees for the service of process by a public officer, registered process server, or other means, as follows:
- (a) When service is by a public officer, the recoverable cost is the fee authorized by law at the time of service.
- (b) If service is by a process server registered pursuant to chapter 18.180 RCW or a person exempt from registration, the recoverable cost is the amount actually charged and incurred in effecting service;
- (3) Fees for service by publication;
- (4) Notary fees, but only to the extent the fees are for services that are expressly required by law and only to the extent they represent actual costs incurred by the prevailing party;
- (5) Reasonable expenses, exclusive of attorneys' fees, incurred in obtaining reports and records, which are admitted into evidence at trial or in mandatory arbitration in superior or district court, including but not limited to medical records, tax records, personnel records, insurance reports, employment and wage records, police reports, school records, bank records, and legal files;
- (6) Statutory attorney and witness fees; and

(7) To the extent that the court or arbitrator finds that it was necessary to achieve the successful result, the reasonable expense of the transcription of depositions used at trial or at the mandatory arbitration hearing: PROVIDED, That the expenses of depositions shall be allowed on a pro rata basis for those portions of the depositions introduced into evidence or used for purposes of impeachment.

Attached are the billing entries that appear to be costs charged to the DeCourseys during the trial court phase. I have omitted the costs charged to the DeCourseys by Lane Powell during the appeal, which I assume would have had to have been requested from the appellate courts through the appellate cost motions or have been waived. If you disagree and think additional costs are recoverable from the appellate phase, please advise so those can be sought on remand.

I am aware that the DeCourseys have retained separate counsel relating to Lane Powell's handling of the underlying matter. Nothing contained in this letter should be seen as an agreement, endorsement or waiver by the DeCourseys as to Lane Powell's handling of the underlying case, lien, invoices, fees and costs charged.

I look forward to your response so I may prepare the remand materials for the DeCourseys.

Very truly yours,

MICHELE EARL-HUBBARD

Michel To tal Hubband

Allied Law Group, LLC

cc: Clients

# ATTACHMENT A

True and Correct Copies of Pages from Lane Powell Bills to the DeCourseys for Costs During the Trial Court Phase

Mark and Carol DeCoursey

January 29, 2008

OUR FEE		\$71,130.00
LESS COURT	SEY DISCOUNT	(\$2,500.00)
TOTAL FEE		\$68,630.00
COSTS ADVA	ANCED	
10/03/2007 10/16/2007 10/29/2007 10/30/2007 11/08/2007 11/15/2007	Outside photocopy service American Legal Copy, LLC, 09/26/07 Jury fee - King County Superior Court, jury demand fee, 10/16/07 Filing fee Clerk of Court Motion for Discretionary Review Outside photocopy service American Legal Copy, LLC, 10/26/07 Outside photocopy service American Legal Copy, LLC, 11/06/07 Professional services - Mediation - Judicial Dispute Resolution, 11/14/07	471.34 125.00 200.00 65.72 27.23 525.00
11/20/2007	Outside photocopy service Law Office of Michele K. McNeill PLLC, 11/20/07	25.60
11/28/2007	Outside photocopy service Bank of America, Head Office, 11/08/07	29.27
12/11/2007	Outside photocopy service Bank of America, Head Office, 12/04/07	171.80
12/13/2007 12/17/2007 12/20/2007 12/20/2007 12/26/2007 12/28/2007	Professional services Keybank National Association, 12/6/07 Outside photocopy service American Legal Copy, LLC, 12/17/07 Outside photocopy service American Legal Copy, LLC, 12/18/07 Professional services Attorneys' Information Bureau, 12/14/07 Outside photocopy service American Legal Copy, LLC, 12/21/07 Outside photocopy service American Legal Copy, LLC, 12/26/07 Computer legal research Reproduction costs Docket research Facsimile Messenger and courier service Long distance telephone	48.75 244.59 248.00 11.09 49.01 412.61 144.95 1,471.95 34.10 297.15 298.30 7.94
TOTAL COST	'S ADVANCED	\$ 4,909.40

# update production log and case files re same

***	TOTAL HOURS	153.40
OUR FEE		\$38,207.50
COSTS ADV	ANCED	
01/04/2008	Travel expense - Redacted Seattle, 11/20/07	24.00
01/07/2008	Outside photocopy service American Legal Copy, LLC, 01/02/08	146.67
01/10/2008	Court reporter - Groshong-Quaintance, attendance charge for the deposition of 12/19/07	454.75
01/10/2008	Outside photocopy service American Legal Copy, LLC, 01/04/08	461.39
01/25/2008	Travel expense Redacted 12/9/07	6.00
01/31/2008	Records obtained from - Key Bank National Association, 1/23/08	79.65
	Computer legal research	107.41
	Reproduction costs	2,037.00
	Docket research	11.00
	Facsimile	29.25
	Messenger and courier service	701.90
	Long distance telephone	3.31
TOTAL COS	TS ADVANCED	\$ 4 062 33

#### RATE SUMMARY

	Hours	Billed	
Attorney/Timekeeper	Worked	Per Hour	Bill Amount
A. Gabel	43.10	225.00	9,697.50
T. Gillespie	1.80	275.00	495.00
Redacted	71.00	300.00	21,300.00
H. Newman	1.00	180.00	180.00
S. Reich	35.40	180.00	6,372.00
L. Evans	0.20	150.00	30.00
H. Grunke	0.10	130.00	13.00
S. Schulkin	0.80	150.00	120.00
Total all Timekeepers	153.40	1 gettina and the second	38,207.50
10tal all 111102copers	155,40		30,207.30

		·	
02/19/2008	B. Redacted	Telephone conference with client; review denial of discretionary review; draft letter to Verizon; review client e-mails; receive and review opposition to motion to reconsider	2.30
02/20/2008	B. Redacted	Review client e-mails; telephone conference with C. DeCoursey; receive e-mail from Court regarding briefing schedule; consult with A. Gabel; telephone conference with client regarding motion for reconsideration and substance of reply in support of the same as well as DL Electric	3.10
02/21/2008	A. Gabel	Draft reply in support of motion for reconsideration; research case law in other jurisdictions on economic loss rule for motion for reconsideration	3.70
02/21/2008	B. Redacted	Review e-mail from B. Adams and return telephone call; review client e-mails	0.70
02/22/2008	A. Gabel	Draft reply in support of DeCourseys motion for reconsideration; conference with DeCourseys and B. Redacted re reply brief	3.30
02/22/2008	B. Redacted	Review and revise reply in support of motion for reconsideration; review client e-mails; consult with A. Gabel	2.50
02/24/2008	B. Redacted	Review client e-mails	0.50
02/25/2008	B. Redacted	Review client e-mails and telephone conference with client; perform legal research regarding motion for summary judgment against Stickney	0.40
02/26/2008	B. Redacted	Telephone conference with client; review client e-mails	0.60
02/28/2008	A. Gabel	Conference with DeCourseys re defect report	0.60
02/28/2008	B. Redacted	Review documents delivered in response to interrogatories	0.50
02/29/2008	A. Gabel	Examine documents delivered by Carol	0.10
		TOTAL HOURS	34.30
OUR FEE			\$9,427.50
			- ,

COSTS ADVANCED

Page: 3

Mark and Carol DeCoursey

March 25, 2008

02/13/2008	Travel expense - American Express - Redacted B., Republic Parking, 9/13/07	24.00
02/21/2008	Travel expense - Wright Express Financial Services - Redacted Redacted L., 1/4/08	24.00
	Computer legal research	64.63
	Reproduction costs	282.75
	Docket research	3.78
	Facsimile	11.40
	Messenger and courier service	86.30
TOTAL COST	rs advanced	\$ 496.86

# RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
A. Gabel	11.50 22.80	225.00 300.00	2,587.50 6,840.00
Total all Timekeepers	34.30		9,427.50

TOTAL THIS INVOICE

\$9,924.36

Mark and Carol DeCoursey

TOTAL HOURS

26.30

OUR FEE
\$6,592.50

COSTS ADVANCED

Reproduction costs
Messenger and courier service
17.70
Messenger and courier service
\$17.70

#### RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
A. Gabel	8.80	225.00	1,980.00
B Redacted	13.00	300.00	3,900.00
B. Volbeda	0.50	225.00	112.50
C. Jacobs	4.00	150.00	600.00
		<del></del>	
Total all Timekeepers	26.30		6,592.50

TOTAL THIS INVOICE

Our File: 123057.000001

\$6,610.20

Page: 3

Mark and Carol DeCoursey

May 30, 2008

		judgment	
04/30/2008 C.		Telephone call from client; began reviewing and organizing documents produced by for use at mediation and trial	2.30
		TOTAL HOURS	98.60
OUR FEE			\$23,565.00
COSTS ADVAN	CED		

04/04/2008	Records obtained from - Washington Mutual Bank, 03/03/08	345.00
04/22/2008	Professional services Ansersen Bjornstad Kane Jacobs , 03/31/08	350.00
	Reproduction costs	325.65
	Docket research	30.36 .
	Facsimile	5.25
	Messenger and courier service	60.35

# TOTAL COSTS ADVANCED

\$ 1,116.61

# RATE SUMMARY

	Hours	Billed	
Attorney/Timekeeper	<u>Worked</u>	Per Hour	Bill Amount
A. Gabel	28.40	225.00	6,390.00
B. Redacted	23.50	300.00	7,050.00
B. Volbeda	41.60	225.00	9,360.00
C. Jacobs	5.10	150.00	765.00
The state of the s			
Total all Timekeepers	98.60		23,565.00

TOTAL THIS INVOICE

\$24,681.61

Page: 5

Mark and Carol DeCoursey

June 26, 2008

05/31/2008	B. Redacted Review client e-mails	0.70
	TOTAL HOURS	112.70
OUR FEE		\$27,752.50
COSTS AD	VANCED	•
05/19/2008	Professional services San Toki Productions for Homewreckers	100.00
	DVD, 05/02/08 Reproduction costs	279.30
	Facsimile	23.40
	Long distance telephone	1.38
	Long distance telephone	1.38

# RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
A. Gabel	22.30	225.00	5,017.50
B. Redacted	58.80	300.00	17,640.00
B. Volbeda	2.60	225.00	585.00
C. Jacobs	25.00	150.00	3,750.00
R. Ortega	4.00	190.00	760.00
Total all Timekeepers	112.70		27,752.50

TOTAL THIS INVOICE

TOTAL COSTS ADVANCED

\$28,156.58

\$ 404.08

		approaches to take to preserve client's claims and discuss possible bench memos for submission		
06/30/2008	C. Jacobs	Reviewed data on CD produced by client and copied to system for access; prepare subpoena duces tecum, notice of records deposition, declaration and correspondence to JD Financial	0.80	
		TOTAL HOURS	275.40	
OUR FEE	• • ••		\$64,982.50	
COSTS ADV	ANCED			
	Computer legal rese Reproduction costs Docket research Facsimile Messenger and cour		192.74 710.70 74.25 54.00 167.90	
TOTAL COSTS ADVANCED \$				

# RATE SUMMARY

	Hours	Billed	
Attorney/Timekeeper	Worked	Per Hour	Bill Amount
A. Gabel	39.00	225.00	8,775.00
B. Redacted	86.40	300.00	25,920.00
B. Volbeda	92.10	225.00	20,722.50
C. Jacobs	35.80	150.00	5,370.00
R. Ortega	22.00	190.00	4,180.00
L. Bennett	0.10	150.00	15.00
	<del></del>		
Total all Timekeepers	275.40		64,982.50

TOTAL THIS INVOICE

\$66,182.09

Page: 6

Mark and Carol DeCoursey

August 27, 2008

T	$\neg$	λТ	HO	TTRS
		A. 1	. н.	11 ) K 🔨

137.10

OUR FEE

\$34,282.50

# COSTS ADVANCED

Computer legal research	484.67
Reproduction costs	325.80
Facsimile -	4.50
Messenger and courier service	312.00
Mileage	7.58
Long distance telephone	19.89

#### TOTAL COSTS ADVANCED

\$ 1,154.44

# RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
A. Gabel	30.80	225.00	6,930.00
B. Redacted	60.90	300.00	18,270.00
B. Volbeda	30.30	225.00	6,817.50
C. Jacobs	15.10	150.00	2,265.00
Total all Timekeepers	137.10		34,282.50

TOTAL THIS INVOICE

\$35,436,94

Mark and Carol DeCoursey

September 22, 2008

Page: 4

08/28/2008	B. Redacted	Telephone call with clients regreview motion from HIH	garding settlement;	2.10
08/29/2008	A. Gabel	Conference with DeCourseys	re insurance letter,	0.30
		TOTAL HOURS		86.30
OUR FEE	· ·		·	\$23,725.00
COSTS ADV	ANCED			
08/12/2008	Travel expense - W L. Seattle 06/25/08	right Express Financial Service	Redacted Redacted	22.00
08/12/2008		right Express Financial Service	Redacted Redacted	26.00
08/20/2008		service TechLit, 06/16/08	*	289.03
08/25/2008		drew Gable, Seattle, 6/27/08		16.00
	Computer legal rese			18.90
	Reproduction costs			123.15
	Facsimile			20.25
	Messenger and cour			139.80
	Long distance telepl	none		1.47
መረም ል፤ የጋረብ	TO A TOTAL A TOTAL			# CEC 60
TOTAL COS	TS ADVANCED			\$ 656.60

# RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
A. Gabel	15.00	225.00	3,375.00
B. Redacted	56.70	300.00	17,010.00
B. Roesch	10.90	250.00	2,725.00
B. Volbeda	0.80	225.00	180.00
C. Jacobs	2.90	150.00	435.00
		22	
Total all Timekeepers	86.30		23,725.00

TOTAL THIS INVOICE

\*4 c

\$24,381.60

09/22/2008	B. Redacted	Meet with clients and prepare for trial; discuss settlement; draft demand to Windermere; telephone call with M. Davis	2.60
09/22/2008	C. Jacobs	Meeting with B. Redacted A. Gabel and clients resettlement negotiations	2.50
09/23/2008	B. Redacted	Prepare for trial; review comparable for house value from opposing counsel	2.30
09/24/2008	B. Redacted	Telephone call with clients; draft letter; prepare for trial	1.20
09/24/2008	C. Jacobs	Meeting with B. Redacted re settlement negotiations	0.70
09/25/2008	A. Gabel	Revise letter to Demco re settlement	0.30
09/25/2008	B. Redacted	Prepare for trial	2.30
09/25/2008	L. Bennett	Obtain complaint using King County ECR	0.20
09/26/2008	A. Gabel	Conference with M. Davis re settlement and conference with B. Redacted re possible settlement	0.60
09/26/2008	B.Redacted	Prepare for trial	6.10
09/26/2008	C. Jacobs	Meeting with B. Redacted re status of negotiations and outstanding discovery	0.30
09/29/2008	S. Beck	Prepare for and meet with client re settlement valuation, prospects and strategy	2.00
09/29/2008	A. Gabel	Conference with McNeil re PHSI documents and possible settlement	0.60
09/29/2008	B. Redacted	Prepare for trial; meet with clients	3.50
09/30/2008	B. Redacted	Telephone calls with opposing counsel; telephone call with clients; prepare for trial; draft e-mails to M. Davis	2.00
		TOTAL HOURS	69.40
OUR FEE			\$19,652.50
COSTS ADV	ANCED		
	Computer legal reservation of Reproduction costs		48.50 8.00 101.55

Page: 4

Mark and Carol DeCoursey

October 20, 2008

Facsimile		29.55
Messenger and courier service		18.00
Long distance telephone	,	0.42

# TOTAL COSTS ADVANCED

\$ 206.02

# RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
S. Beck	2.00	425.00	850.00
A. Gabel	9.30	225.00	2,092.50
B. Redacted	53.30	300.00	15,990.00
C. Jacobs	4.60	150.00	690.00
L. Bennett	0.20	150.00	30.00
Total all Timekeepers	69.40		19,652.50

TOTAL THIS INVOICE

\$19,858.52

		•		
11/20/2008	A. Lorber	Telephone conference with M. Dadditional revisions to set-off bri		0.30
11/20/2008	A. Lorber	E-mail with C. DeCoursey and m changes to bench brief on set-off		0.40
11/21/2008	A. Gabel	Revise Cost Bill and attorney fee	s motion	0.20
11/21/2008	B. Redacted	Review client e-mails; review dr	afts of pleadings	3.10
11/24/2008	A. Gabel	Conference with court re deadlin conference with DeCourseys re r fees		1.00
11/26/2008	A. Gabel	Conference with Redacted re JNO	V and attorney's fees	0.70
11/26/2008	A. Lorber	Prepare bench brief on measure of incorporation into Plaintiffs' respondion for JNOV		0.30
		TOTAL HOURS		562.30
OUR FEE			, s. Se <sub>s</sub>	\$129,426.00
COSTS ADV	ANCED			
10/10/2008 10/10/2008 10/10/2008 10/24/2008 10/24/2008 11/04/2008 11/04/2008 11/04/2008 11/04/2008 11/04/2008 11/04/2008 11/04/2008	Witness fee Ken Outside photocopy s Outside photocopy s Travel expense - B. Records obtained from	e Connolly, 10/10/08 Bacon, 10/10/08 Bacon, 10/10/08 Bacon, 10/10/08 Bacon, 10/10/08 Bervice Sound Legal Copy, Inc. Bervice Sound Legal Copy, Inc. Bedacted 9/12/08 Redacted 9/12/08 Redacted 9/17/08 Redacted 9/25/08 Redacted 9/26/08 Dom Stephenson, T., King Count of court pleadings form King Count	, 10/21/08 y ECR On-Line	29.89 30.00 24.04 351.18 349.69 8.15 24.00 13.00 24.00 26.00 52.49
	Reproduction costs Docket research Facsimile Messenger and cour			750.81 21.95 13.65 489.53
TOTAL COSTS ADVANCED		\$ 2,229.48		

		judgment against Windermere; telephone call with client regarding same; prepare motion for attorney fees	
12/30/2008	B. Redacted	Draft motion for attorneys fees	1.80
		TOTAL HOURS	16.70
OUR FEE			\$4,597.50
COSTS ADV	ANCED		
12/29/2008	Travel expense - W L., parking, 10/29/	Vright Express Financial Services - Redacted	35.00
12/29/2008		Vright Express Financial Services - Redacted Redacted	35.00
12/29/2008		Vright Express Financial Services - Redacted Redacted	35.00
12/29/2008		Vright Express Financial Services - Redacted Redacted	22.00
	Computer legal rese		16.88
	Reproduction costs		5.76
· ·	Messenger and cou	rier service	15.00
TOTAL COS	TOTAL COSTS ADVANCED		

#### RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
A. Gabel	2.50	225.00	562.50
A. Lorber	3.00	225.00	675.00
B. Redacted	11.20	300.00	3,360.00
Total all Timekeepers	16.70		4,597.50

TOTAL THIS INVOICE

\$4,762.14

Our File: 123	057.000001			Page: 2
Mark and Card	rk and Carol DeCoursey Februa		ary 20, 2009	
				٠
01/29/2009	A. Gabel	Research executing judgments respond to client's concerns	draft plan for clients;	1.80
01/29/2009	A. Norby	Receive and review amended judgment; consult with A. Gabel re instructions to proceed and debtor identification; run Accurint reports on individual and two corporations to investigate available assets; compile information for A. Gabel's review with options to proceed		0.80
	• • •	TOTAL HOURS		15.70
OUR FEE				\$3,762.50
COSTS ADVA	ANCED	,		
	Reproduction costs Docket research Messenger and cour	ier service		298.26 111.38 8.00
TOTAL COST	'S ADVANCED			\$ 417.64
		RATESHMMARY		

#### RATE SUMMARY

Attorney/Timekeeper	Hours <u>Worked</u>	Billed <u>Per Hour</u>	Bill Amount
A. Gabel	8.10	240.00	1,944.00
A. Lorber	5.50	245.00	1,347.50
B. Redacted	1.30	310.00	403.00
A. Norby	0.80	85.00	68.00
	All the second s		
Total all Timekeepers	15.70		3,762.50

TOTAL THIS INVOICE

\$4,180.14

judgment debtors; perform Accurint search on C. Shriner re current address; consult with A. Gabel re residential status of C. Shriner and acceptance of service by M. Davis; update file re proceeding with acceptance of service

#### TOTAL HOURS

56.70

OUR FEE		\$12,636.00
COSTS ADV	ANCED	
02/03/2009	Reversal from Void Check Number: 676891 Bank ID: SEAZ	(7.00)
02/03/2009	Voucher ID: 480110 Vendor: Clerk of Court, King County Filing fee Clerk of Court, King County Certified Copy of Judgement	7.00
02/03/2009	Filing fee Clerk of Court, King County Abstract Fee- Judgement	6.00
02/06/2009	Recording fee King County Recorder's Office, judgment (DCoursey), 2/6/09	45.00
02/09/2009	Professional services King County Superior Court Clerk, Supplemental Examination Fee, 2/9/09	20.00
02/09/2009	Professional services King County Superior Court Clerk, Supplemental Examination Fee (2), 2/9/09	20.00
02/09/2009	Professional services King County Superior Court Clerk, Expedited Ex Parte Fee, 2/9/09	60.00
02/12/2009	Professional services King County Superior Court, Writ of Granishment Issuance fee, 2/12/09	20.00
02/12/2009	Professional services Key Bank National Association, Writ of Garnishment Answer Fee, 2/12/09	20.00
02/13/2009	Outside photocopy service Sound Legal Copy, Inc., 10/14/08	771.99
02/24/2009	Ex Parte Filing fee - AMENDED SUPP. EXAMS - Superior Court Clerk, 02/24/09	30.00
02/24/2009	Filing fee - AMENDED SUPPLEMENTAL EXAM FEE (WINDERMERE) - Superior Court Clerk, 02/24/08	20.00
02/24/2009	Filing fee - AMENDED SUPPLEMENTAL AXAM FEE (STICKNEY) - Superior Court Clerk, 02/24/09	20.00
	Reproduction costs	162.36
	Docket research	20.41
	Facsimile	0.30
	Messenger and courier service	63.00
	Long distance telephone	0.30
	Long distance rerephone ,	0.00
TOTAL COSTS ADVANCED		\$ 1,279.36

		signature (.20)		
03/18/2009	A. Norby	Revise letter to garnishee for prepare fax cover sheet and deliver correspondence and enclosures to garnishee via facsimile and regular mail; forward copy for counsel to B. Redacted update file re same	0.80	
03/19/2009	A. Gabel	Draft letter to VEMIS re: arbitration; conference with client re: VEMIS arbitration; review DL Electric's opinion	1.20	
03/19/2009	A. Norby	Receive and review conformed copy of release and forward same to B. Redacted and A. Gabel; update file re same	0.30	
03/24/2009	A. Gabel	Conference with clients re: appeal process; review VEMIS's counsel's letter re: arbitration; conference with Redacted re: same	0.50	
03/24/2009	B. Redacted	Review status of appellate documents and confer with R. McBride	0.20	
03/30/2009	A. Gabel	Conference with Mark re: judgment and appeal; conference with Carol re: judgment and interest; conference with Redacted re: appeal	0.80	
03/30/2009	K. Helde	Obtain copies of judgments filed in case	0.20	
03/31/2009	A. Gabel	Correspond with client re: statutory rate of interest; research the issue	0.30	
		TOTAL HOURS	21.50	
OUR FEE		en e	\$4,946.00	
COSTS ADV	ANCED			
03/18/2009		om - Mr. Michael O'Brien, Copy of motion for	40.00	
03/26/2009	fees transcript from 2/6/09  Filing fee Clerk of Court, King County Clerk's Papers  Computer legal research  Reproduction costs  Facsimile  Messenger and courier service  Long distance telephone  364.50  1.10  364.50  1.10  1.10  364.50  1.10  364.50  365.50  366.50			
TOTAL COS	TOTAL COSTS ADVANCED \$ 1,425.30			